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https://www.100test.com/kao_ti2020/646/2021 2022 2010 E5 B9
B412 E6_c83 646525.htm There are 20 blanks in the following
passage. For each blank there are four choices marked A), B), C) and
D ). You should choose the ONE that best fits into the passage. Then
mark the corresponding letter on Answer Sheet 2 with a single line
through the centre. 62. A) apply to B) appeal to C) suit to D) attach
to 63. A) and B) that C) or D) with 64. A) has been getting B) has got
C) got D) had got 65. A) / B) to C) until D) by 66. A) sweeping B)
sweeting C) swallowing D) switching 67. A) was practised B)
practised C) being practised D) practising 68. A) extremely B)
violently C) intensively D) originally 69. A) gained B) won C)
earned D) achieved 70. A) So B) However C) Though D) Therefore
71. A) while B) as C) since D) when 72. A) drawn on B) drawn of C)
drawn in D) drawn up 73. A) provides B) supplies C) gives D)
affords 74. A) contain B) include C) involve D) comprise 75. A)
locating B) is located C) located D) locates 76. A) specifically B)
specially C) particularly D) peculiarly 77. A) comparing B)
compared C) to compare D) being compared 78. A) had been B) are
C) were D) have been 79. A) head B) heading C) to head D) headed
80. A) teaching B) to teach C) taught D) teach 81. A) firmly B)
steadily C) stably D) solidly #0000ff>#0000ff> O O O O O O O
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